[ normalized x? probability |

Entries O 2_
| I A 1Y -
10 AR [T
- 0.18F
1072 0.16f
0.14f
ntries
—3H . N B lean
10 . Std Dev.

Entries
Mean 1.403

107° td Dev 137
ol o
g 15 3 &
I
0.5 R S E] |
10 12 14 16 18 20 0 010203040506070809 1
X Prob(x?)

DQMstep3_T1_CKF
— DCMslep3 TT default
m— DQMstep3_TT_ckfPixelLess
s DQMstep3_TT_default-relf2
s DQMstep3_TT_defaultNEWTOLDSAMPLE-relf2

A 5:
2 asf
% 4F
\ E
3sf
25F
15F
0.5F
o Of
T 2F
@
£
-3
A 5E A n
2 4sfF 2 18f-
< 4F %< 1.6F-
Y E v E
3.5F 1.4F-
3E 12F
25F -
2F o.8f-
1.5E 0.6F
3 04f
0.5F 0.2F
o Of o GQF
2 15k =
@ @
1= 0.5
0.5 : N
0
1 -1 3 10—3 1 -2 . -1
0 plTO 0 AR(track, jélts)



	Contents
	Page 1


